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1.) For the graph given below answer the questions. The cost to travel between nodes are given
as/on the solid lines and the heuristic distances are on the dashed lines.
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a.) Is this heuristic admissible? Why or why not?
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b.) Is this heuristic consistent? Why or why not?
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2.) Given the following graph, starting in Node S and trying to get to Node G, trace the steps the
A* Algorithm would take. To make the graph less busy, the heuristic distances are given as a
table.
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4.) Use Alpha/Beta P g on the tree below, showing the Alph d Beta at each nod d
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5.) Answer the following two questions about Constraint Satisfaction Problems (CSPs).

a.) Explain in your own words how the backtracking algorithm for CSPs works and is
implemented.
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b.) How does forward checking or constraint propagation improve on basic backtracking?
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6.) Given the following dataset layout, answer the two questions.

le————— Label | (X, )

S X Y
S X, X, 1Y
S |39 42| o
= S, |27 85| 1
~ S |41 40| O
~ Su |31 79
&
~ S. |40 38| 0

a.) How do we derive the mu and sigma for a gaussian PDF during the training or fitting step of
a Naive Bayes classifier?
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b.) What is the role of the gaussian PDF during the prediction step of using a Naive Bayes
classifier and what assumption do we make by using a Gaussian distribution?
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7.) What is the difference between a regression task and a classification task?
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8.) Why is the Viterbi algorithm considered a “greedy” algorithm
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9.) What would the equation look like for a multiple linear regression with three features?
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10.) What are the two regularization techniques we learned and how do they affect the weights
of a linear regression?
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11.) What is the purpose of the AC-3 Algorithm?
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) What is the “learning” a Markov Babbler does when given an input text?
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.) What are MLE and MAP?
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14.) What is the difference between uninformed and informed searches?
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15.) How does IDS simulate BFS behaviour with a DFS?
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16.) What is a loss function?

A Sonchin  J} gwe Us a4
P> nau\&f ol l:% S bew vl
ve Modd Qi M deto




